T10/T30
Intelligent
Battery
Station
Diagram

RANTIZO




Intelligent Battery Station Pt 1

No.

Material Number

Material Name

YC.JG.ZS000937.04

Battery Station Side Board

YC.SJ.WS002329.05

Charger Side Plate B

YC.WJ.LL000217.02

T30-PR00800080-055020-3125-Y

YC.JG.Z5000935.02

Battery Cable Cover Plate

YC.WJ.LL000215.01

M3 x 8 Black Screw with Screw

YC.JG.ZS000937.04

Battery Station Side Board

RANTIZO

T2 03 4 % 6 7 8 9 10 1121 M1 6

Confidential: Do Not Distribute

17098 19 20 21 22 23 24 25 26 2T 28 29 30 31 32 31 34 35 36 37 3 39 40 41 A2 43 44 A4S 46 47 A8 49 S0 51 82 83 S4 55 56 87 S8 89 60

448

ey




Intellig

ent Battery Statlon Pt 2

No. Material Number Material Name

1 YC.JG.ZS000936.03 Charger Upper Cover

2 YC.JG.MQ000550.01 Panel Indicator Tape

3 YC.JG.MQ000615.01 Handle Screw Shielding Piece

4 YC.XJ.QT000174.03 Charger Handle

5 YC.JG.MQ000615.01 Handle Screw Shielding Piece

6 YC.WJ.LM000042.02 M40-HX070032-0223

7 YC.WJ.ZZ002715.02 Charger Handle Fixing Pin

8 YC.XC.XX000703.02 LED Board Communication Cable
9 YC.WJ.LL000217.02 T30-PR00800080-055020-3125-Y
10 YC.XC.XX000724.05 Battery Station Switch

11 BC.AG.PP000176.03 Chargers LED Board

12 YC.JG.MQO000551.01 LED Shading Cottom

13 YC.JG.MQ000822.01 Battery Station Upper Cover Sticker

RANTIZO

13

8 swuuuu-swwwuznuzzz:uzs:sﬂun:uuunu
I T |

0 ‘M\‘M‘\w“\“u‘“\‘\\\\\
‘,
3 =
3
=
4 =
6
1=
5 8
o=
|U;
6 =
1"
7 12=
1=
14:
15=
=
18
8 19
202
21
ZZ;
2)7
2=
9 5=
257
10 =
8=
11 9=
Joi
3|i
3?:
N=
34
JSE
12 6=

Confidential: Do Not Distribute

41 a7 2
e \ \m | \ HHH \ I \ (i \ ih \um‘ mumnmmu I \ I mmhuwmm

5: 54



Intellig

1N 1a 18 16 17 18 19 30 30 3 3 2425 36 37 38 3930 31 33 33 34 38 36 37 38 38 A0 41 4T 43 44 43 46 4T 40 49 S0 51 82 83 54 S5 56 ST 4 59 @0

ent Battery Station Pt 3

No. Material Number Material Name
1 YC.JG.BJ000534.04 Battery Station Module Bracket
2 YC.WJ.LL000215.01 M3 x 8 Black Screw with Screw
3 YC.XJ.QT000175.03 Charger Type-C Silicone Rubber Stopper
4 YC.JG.BJ000532.03 Battery Station U-type Frame
5 YC.SJ.WS002365.02 Charger Landing Gear Pad
6 YC.WJ.LL000214.01 M4*12 Black Screw with Pad
7 YC.WJ.LL000215.01 M3 x 8 Black Screw with Screw
8 YC.JG.BJ000556.03 Battery Station Thermal Panel
9 YC.JG.BJ000542.02 Charger Rear Decorative Plate

RANTIZO

Confidential: Do Not Distribute



Intelligent Battery Statlon Pt 4

©
S

&

10

0 1 2 3 4 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 4 35 35 37 38 39 40 44 l 47 48 49 50 51 52 53 54
. it (LTI \ IIf \‘\ 1000000000000t | il | | \hmunm \\HH H\ il m e
No. Material Number Material Name
1 YC.JG.MQ000549.02 Battery Station Board Thermal Pad E
2 YC.WJ.LL000215.01 M3 x 8 Black Screw with Screw ‘-
3 BC.AG.PP000204.03 Power Module Adapter 4 g
4 BC.AG.SS000405.01 T30 Battery Station Board Module A
5 YC.WJ.LL000215.01 M3 x 8 Black Screw with Screw .
5 8
6 YC.XC.XX000720.03 T30 Power Module Communication Cable A
7 YC.XC.DD000455.03 | Battery StationPositive Polar Cable (280 mm) 102
8 YC.XC.DD000451.02 |Battery Station Positive Polar Cable (150 mm) "=
IZ?T
9 YC.WJ.LL000214.01 M4*12 Black Screw with Pad ‘é
10 YC.XC.DD000452.03 |Battery Station Negative Polar Cable (280 mm) "’zé
11 YC.XC.XX000721.03 T10 Power Module Communication Cable hE
16=
7=
6 13—?
7 mé
g
11 e
o
4=
9 ng%p
ZS%
ZB—%
.-

RANTIZO® Confidential: Do Not Distribute 5



Intelligent Battery Station Pt 5

73 3 40 41 42 43 40 45 46 4T A8 49 S0 ST 52 53 M4 S5 s 5T s 45 6

No. Material Material Name
Number
1
YC.XC.DD000 )
1 453.04 T30 Battery Charging Cable

YC.DZ.BCO00| T30/T10 Battery Station
063.01 Power Module (HJ)

YC.WJ.LLOOO| M4*12 Black Screw with
214.01 Pad

YC.XC.DDO0O00 T10 Battery Station
454.05 Charging Cable

RANTIZO® Confidential: Do Not Distribute



Intelligent Battery Station

 Fully assembled product

RANTIZO® Confidential: Do Not Distribute



Contact Support

Web
www.Rantizo.com

Email
Support@Rantizo.com

Phone

(319) 201-3020 (ext. 2)

LinkedIn
@RantizoSprays

Facebook
@RantizoSprays

RANTIZO

Confidential: Do Not Distribute


https://www.linkedin.com/company/rantizosprays?trk=public_profile_topcard-current-company
mailto:R@RantizoSprays

Thank you.

RANTIZO



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9

